
                                                     Exercise Sheet -3 

                                                                          Date:04.06.20 

1)There are 6 benches in the class, 4 students sit on each bench. How many students are there? 

2)A shopkeeper puts 3 tomatoes on each of 5 plates.  How many tomatoes are there altogether? 

3)There are 2 apples on each of 6 plates. How many apples are there altogether? 

                                                                          

                                                   Solution 

1)1bench  4 students 

6 benches (4×6)students 

                   =24 students 

Ans: There are 24 students. 

 

2)1 plate has  3 tomatoes 

   5 plates has (3×5) tomatoes 

                          =15  tomatoes 

Ans: There are 15 tomatoes altogether. 

  

3)1 plate has  2 apples 

   6 plates has (2×6)apples 

                         =12 apples 

Ans: There are 12 apples altogether. 

 

 

 

 

 

 

 

 

 

 



 

 


